R. Bruner
Math 2150, Fall 2005, Quiz 7
October 19, 2005

Decide whether the following sets of vectors are linearly independent or not.

1.
1 0 {) 1
1 1 0 0
0 I LA I
{ G H 1
2.
1 2 3
2 H 3
01770 0
0 0 0
3.

G2 O on

. U {}Gi\\&
\ i;it‘}é’l? ‘,E s ?‘f“ﬂiﬁ% éf;ao*E_
o | e A ’%wgz§ S I
v v @ i i o i e gwm&mwg
o1 1 0| La’ﬂ%fg L2o e {
i i o0 ' ~4 .
a . 3/‘?
1 Z -] . ?‘ﬂ 5\’2”} {? _ i ;d”
"t if §§g”" gwa /
2 gz { %? Clearly L:;Mé;* 1o e penttens
o o o | J ]
gf o 0
TN
J vecors in o« 3 drm space Uepended
2.
7 alt j{? 2 2 ranl < 2 Lt SHare ae s veOTTS
IV - N g /
5 2 Dpundend
¢ oo



